What Happened to the Guy Who Ry
Fell Into an Upholstery Machine?

EU% the slope and y-intercept to graph each eauation. The graph, If theﬂdcd,B

will cross a letter. Write this letter in the box containing the exercise number.

FON F 5 X
@) The temperature is _?OC'\J’ .
and rising at a rate of 2°V = _
per hour. Y= 2X-~6 @91:5? @y=~1 L
6 x = -2 &> =3 C

€ ) The temperature is 12°C
R and dropping at a rate of T
~ 3° per hour. A '\/’3 Sxvi 2 y N N N SO I

12< 'L? T N

& p
/ iz g /%
NS / > ® 4 a >
N} N g — [ 19
S 0 ; >
E & 2 4 2] s
. \_ i ) }
S = n -4 2
] _ . k\\ ¥ g- |
R \% v Time (h) - ® R 3
§ 12 ‘ §; 9 1§ A]. 17 7 10 14] 8 Iﬁ 4 13| 2 1) 5 | 11 C
RIEIT|IS| AWl LY RIe|lCclel VIe] 2] D
Linear Equations and Their Graphs; PUNCHLINE » Algebra « Book A
Graphing a Line Given Its Equation in Slope-Intercept Form ©2008 Marcy Mathworks

7.12




